MTERIRIIRBRMES Y

tr RS

AR

o HFRABSERNBATRE, BERIERA

o HttR~F, SREENFSRTIRGER(TP)hIFAIE
* RYRSIHARARMEN, BENFIEAZENAKRYEIMmEEMUR)

Kl

MT-M16x.../W

MT-M20x...
MT-M22x...
MT-M24x...,

MT-M27x..

MT-M30x...
MT-M33x...
MT-M36x..
MT-M39x...,
MT-M42x..
MT-M42x...,
MT-M48x..
MT-M52x...,
MT-M56x...
MT-M60x..
MT-M64x..
MT-M68X...,

MT-M72x..
MT-M76x..

MT-M80x...
MT-M85x..
MT-MOO0x..

MT-M100x

MT-M110x..
MT-M120x.

MT-M125x.

MT-M130x.
MT-M140x.
MT-M150x..
MT-M160x..

e

MT-075-...
MT-087-...
MT-100-...
MT-112-...
MT-125-...
MT-137-..
MT-150-...
MT-162-..
MT-175-...
MT-187-...
MT-200-..
MT-225-..
MT-250-..
MT-275-...
MT-300-...
MT-325-...
MT-350-...
MT-375-...
MT-400-...
MT-425-...
MT-450-...
MT-475-...
MT-500-...,
MT-525-...
MT-550-...
MT-575-...
MT-600-...

33333z 2

/W

SisostzozzzzzzzzzzzzzzzzIaes

/W
/W

/W

R~ (mm)
T FRIREE

SREY
D

M20
M22
M24
M27
M30
M33
M36
M39
M42
M42
M48
M52
M56
M60
M64
M68
M72
M76
M80
M85
M0
M100
M110
M120
M125
M130
M140
M150
M160

P,

IS w w NN
PP PPLaa®

0000000000000 0050 a0

B A DD DDOLAODDDEDDDDLEDEOMOWWWWWNNNON

P3

NN NNNMNNMNNMNNNMNNMNNNMNNNNODDN

TP;

Rt (In)
R | TIFRNREE
D |TP, TP:
3/4 10 16
7/8 29 14
18 12
/8 7 8
/4 7 8
1-3/8 6 8
/2 6 8
1-5/8 6 8
1-3/4 5 8
1-7/8 6 8
2 4.5 8
2-1/4 45 8
2412 4 8
2:3/4 4 8
3 4 6
3-1/4 4 6
3-1/2 4 6
3-3/4 4 6
4 4 6
414 4 6
412 4 6
43/4 4 6
5 4 6
514 4 6
512 4 6
53/4 4 6
6 4 6

0 0 0 0 0 0 0w 0 0 W ™ 0

38
4
4
50
53
59

70
75
83
85

107

205

225
234

147
1.60
1.90
2.08
225
2.46
270
2.96
3.08
3.59
3.59
3.95
4.45
4.70
5.20
5.45
5.70
6.20
6.45
6.95
7.20
7.45
7.70
8.45
8.45
8.95
8.95

16
16
16
24

8833888888V B8REN

59

0.70
0.70
0.93
0.93
0.94
1.20
1.20
1.20
142
1.60
1.60
1.60
210
210
210
220
2.30
240
2.60
3.00
3.00
3.20
3.30
3.70
3.70
4.00
4.00

29
31
33
39
42

51

57
63

70
76
78
87
91
95
100
103
108
13
123
139
149
154
159
169
179
189

1.32
1.26
146
1.59
175
1.94
2.01
220
2.38
274
274
3.00
343
3.69
3.95
415
4.40
4.65
4.90
5.33
5.58
5.83
6.08
6.58
6.58
FAL

PAL

M6*0.75
M6*0.75
M6*0.75
M8*1
M8*1
M8*1
M10*1.5
M10*1.5
M10*1.5
M12¥1.5
M12¥1.5
M12*1.5
M12*1.5
M12*1.5
M16*1.5
M16*1.5
M16*1.5
M16*1.5
M16*1.5
M16*1.5
M16*1.5
M16*1.5
M16*1.5
M20*1.5
M20*1.5
M20*1.5
M20*1.5
M20%1.5
M20*1.5

1/4-28
1/4-28
5/16-24
5/16-24
5/16-24
3/8-24
3/8-24
3/8-24
7/16-20
1/2-20
1/2-20
1/2-20
5/8-18
5/8-18
5/8-18
5/8-18
5/8-18
5/8-18
5/8-18
3/4-16
3/4-16
3/4-16
3/4-16
3/4-16
3/4-16
3/4-16
3/4-16

0 00 WWOwOowOoOomwOoNnOoOowOo o M

® 3

W oo oo e o u

3/16
3/16
1/4
1/4
1/4
5/16
5/16
5/16
3/8
7/16
7/16
7/16
9/16
9/16
9/16
9/16
9/16
9/16
9/16
5/8
5/8
5/8
5/8
5/8
5/8
5/8
5/8

(e~ IR N> B e B B> B e R )}

0.24
0.24
0.20
0.20
0.19
0.25
0.25
0.25
0.28
0.40
0.40
0.40
045
045
045
0.35
0.51
0.41
0.53
0.50
0.50
0.60
0.50
0.40
0.40
0.50
0.50

nxD 1 3 2 SW
AN L]
< - —
S i
..... 1R EA
2 TRIEIRET
H S 3 EREE
EREE | SEAIT | EE | SHED (kN) (S THEIRETAEAE (Nm )
(mm) (mm) | (kg)
Ds S L
32 3 33 0.1
38 4 34 0.14
41 4 34 0.16
43 4 34 0.19
50 5 45 035 214 285 36 48
53 5 45 037 214 285 36 48
59 5 45 048 285 380 36 48
66 5 57 076 343 457 72 9%
70 5 57 090 457 610 72 9
73 5 57 101 457 610 72 9%
81 6 68 148 700 935 131 175
85 6 68 150 700 935 131 175
89 8 68 180 700 935 131 175
95 8 68 200 700 935 131 175
100 8 68 230 875 1160 131 175
12 8 92 365 1270 1690 315 420
n7 8 92 385 1270 1690 315 420
120 8 92 400 1270 1690 315 420
127 8 92 510 1900 2530 315 420
127 8 92 480 1900 2530 315 420
137 8 92 510 1900 2530 315 420
140 8 99 600 2350 3380 315 420
152 8 99 780 2350 3380 315 420
72 10 125 140 3150 4200 645 860
179 10 125 13.00 4200 5600 645 860
19 10 125 1350 4200 5600 645 860
202 10 140 1750 4700 6300 645 860
215 10 140 1870 5250 7000 645 860
225 12 142 2000 5250 7000 645 860
234 12 162 2410 6300 8400 645 860
BFRN (Lb) S/ THERETRIE ( Lbft)
BX 2 | BK
F2 M, M:
150 013  1.38 031 20400 27200 14 18
163 013 138 034 30600 40800 " 18
200 019 171 068 48600 64800 27 36
213 019 171 079 48600 64800 27 36
238 019 171 092 64800 86400 27 36
250 019 212 140 73800 98400 49 65
275 019 212 170 98400 131200 49 65
288 019 212 201 98400 131200 49 65
313 025 249 253 129600 172800 75 100
350 025 285 407 175200 233600 14 152
350 025 285 387 175200 233600 14 152
375 025 285 451 175200 233600 14 152
450 031 361 7.82 285600 380800 233 310
475 031 361 836 285600 380800 233 310
500 031 361 10.30 428400 571200 233 310
500 031 361 11.04 428400 571200 233 310
550 031  3.87 1262 571200 761600 233 310
550 031  3.87 15.08 571200 761600 233 310
600 031 419 17.31 642600 856800 233 310
640 038 476 2341 806400 1075200 39 520
665 038 476 2444 806400 1075200 39 520
690 038 506 2713 907200 1209600 39 520
715 038 506  28.83 1008800 1344000 39 520
765 038 536  40.06 1108800 1478400 39 520
765 038 536  37.56 1108800 1478400 39 520
815 038 576 4626 1209600 1612800 390 520
815 038 576  43.32 1209600 1612800 39 520

R
L2

3

WERF
ierifn%s
REFFT
BENRER
SHRER
FHRER
WD
HEHES
B
e
Rl
o RIS

BhAREE

uas

102



